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No. | Question Text and Option. Y3 el [Asel.
A scalar quantity has

1. [A. | Direction only B. | Magnitude only

C. | Both magnitude and direction D. | None of above
AR AL A dud.

q. 5t Rall B. | g5d yeat
CoRat wal yeru o D. | Guretl uiell Algug «1@
Which of the following is a vector quantity?

2. | A. | density B. | energy
C. | temperature D. | momentum
ol Aotiuiell 56 uR 2 AR B?

2. | A | Uetell B. el
Co | diuntet D. | Qapet
Which of the following is not a fundamental quantity?

3. | A. | length B. | mass
C. | volume D. | time
Al Astiiell 58 Yooy AR otell?

3. [A | das B | geataiel
C.|se UHA
The unit of power in S.I. unit is

4. | A. | Pascal B. | Newton
C. | Watt D. | Joule

R oll S.I ugld Hi AsH

¥ [A | uwse B. | yeet
C lae %

Effect of a force on a body depends upon

5. | A. | magnitude B. | direction
C. | nature D. | all of the above
Ueld uR oliell AR ol Aotimiell Aoll UR WHIR AW B

Y.

A yRuwel B. | Rau
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C.

Usi2 D | Guaett ettt %
1kg=
6. |A. |9.8IN B .onfdN;
G | 100N D. | 0.5N
13.a1. =
S. [A J98IN B. [IN
C. | 100N D. | 0.5N
If 250N force is acting on a point towards North-East direction, then force is in which
7 quadrant?
Tl A | 4th B 3rd
G | 20d I [ LT
B 250N ol 516 A5 (g UR Grir-ydl B al Hi cldole 8lal ol Q el sl ARHI
3. éﬂ"
A. | 4th Bee—|=31d:
C. |2nd 7, 5 5] st
For the parallelogram law of forces, equation of Resultant force is
8. |A. [R=2P+2Q+PQ CosO B. | R=P*+Q*+PQ CosO
C. | R*=P+Q™+2PQ CosO D. | R=P*Q*2PQ CosO
olOL ol AHLIAROUIY ALY otl [ 12, uRBeuHl wa of Yyt
¢. [A. [R=2P+2Q+PQ CosO B. |R=P+Q~+PQ CosO
C. |R?=P*+Q*+2PQ CosO D. |R=P*+Q*2PQ CosO
The conditions of equilibrium of coplanar concurrent forces.
9. [ A. | ZH#0, ZV#0 Bk 2H=0
C. [zv=0 D. | ZH=0, £V=0, R=0
AHccllal douHl olollott AHAlAst oll 2Rl
€. A [ZH#0,ZV#0 B. [ZH=0
C. [zv=0 D. |ZH=0, ZV=0, R=0
When a body is said to be in unstable equilibrium?
A. | When it occupies a new position B. | When it returns back to its original
10. position
C. | When it does not returns back to D. | None of the above
its original position
ueldal vl dHAdet Hi sl sgalml wd 8 ?
A e A oldl woaud R W | B e A yo AR W we wd
{0, = i :
Coload Ay RARA Wi wg ot | D | Guretl Hiell Slsugl oA
uLd
For a coplanar concurrent force system if XH = -ve and ZV = -ve, the resultant force is
1 in which quadrant?
T B, ;205
o D.- 4"
ardela Wl dauEsd W2 %l TH=-ve ol TV=-ve, a2t dl uREWHl sl
sAL AWML slaA?
919
S RVECTH B. | oflost
C. | Allnt D. | qau
Forces are called concurrent when their lines of action meet at
12. | A. | One point B. Different points
[z Different plane B None of the above
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ool MouHl R sdalat A2 AHell sRul

Q. | A | Us [gul v B. |%EL %EL [Glgui Ut

C. | %EL AEL AHAA Ml D. | GuRell diell Sleuyl o1}

Polygon of law of forces can be used to determine the resultant of
13. | A. | Two forces B. | Three forces

C. | More than three forces D. | All of the above

o oll Wellollet ol (R 8lef uRguHl et cuzia B7?
3. [A | & ol B. | AQl ¢l

C. |28l scll dulR sl D. |GUR ol oltll ¥

The resultant two concurrent tensile forces is minimum, when angle between them is
14. [A |0 B e.

g | 90” D. [180°

A AouHl Waael volleg RRUHL sjettid RUR Ul wUR dHetl 2 «ll
Q. |v@l A

. Sl 45"

C. |90 180"

For system of forces, the angle of resultant with horizontal is calculated by which
15 equation?

" | A | sin© =ZH/EV B. | tan© =XV/ZH

C. |sinB=XV/ZH D. |tan© =ZH/ZV

ool ol yeuell 12, uRgual oloe] aHERes A8 wall sul Y2t ol Heeel
qu. | 2Ll saum ud 872

A. |sin© =XH/ZV B. |tan® =XV/ZH

C. |-sin®.=XN2H D. |tan® =ZXH/ZV

Equilibrant force is

A. Unequal and parallel to resultant | B. Equal and opposite to resultant
16. force force

G Unequal and unparallel to D. All of the above

resultant force

UHAEAS oo A

A uReuHl A Uy ua dMidR | B | uReul e Uz wa u
1. : (@Al

CluRall A iy ot . | D+ | Guret citii o

UULAR ol

The unit of moment is
17. | A. | Newton meter B. | Newton/meter

C. | Meter/Newton D. | Newton/meter”
9. | HiHzell AsH, 8.

A | et HleR B. | ezt plle?

C. | lez /ey2at D. | yzat plle??

Which of the following is an example of a couple?
18. | A. [ Turning the cap of bottle B. | Twisting a screw driver

C. | Steering the car D. | All of the above
a¢. | ollAsuuiell 53 clnome] GeleRQL B
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olleclef @SR Wl

B. | agsiecr ad 1 Qausal

C | eretl Hladlot et 3rag

D. | Guzell st

If a beam has one end fixed and other end free then it is a

19. | A. | Fixed beam B. | Overhanging beam
C. | Cantilever beam D. | Simply supported beam
A oflHoll As B ulotttt el oA B st lat A Aol sdaal,
e, [ A | vl ofly B | wsR dede olln
€| ougureg ol D. 1 ysd Al 2sact olln
If a load is distributed equally over an entire length of beam then the type of load is
20. | A. | Point load B. | Uniformly distributed load
C. [ Uniformly varying load D. | Concentrated load
oflHoll cotes uR Asurull 1A adadet ez o 58 B
0. | A | ElgeuR B | @Rt @R
C | auRadlenr D. | 5Rdeuz
A couple is a formed by
21. | A. | A single force B. | Two equal and opposite forces
C. | Three equal and opposite forces D. | None of the above
ol01JoH Qo] vlale Sl B?
| A | Aswa B Q waui wa @3t il
Co | ol mRuL ol Q3 4L Lol D. | Guzet wisll lsug R
A 1 m long cantilever beam AB is subjected to UDL of 20 N/m over entire span. The
2 value of moment about point A.
" |A. [40N.m B. |30N.m
C. [20N.m D. |10N.m
U5 1 {leR ciow cugtuel ol AB ott yel a6 GUR 20 N/m oll dH@AR
22, | MR A, (Clg A ofl ey 1 AN &l
A. |40 N.m B. |30N.m
C. |20N.m D. | 10N.m
Principle of the moment is based on
23. | A. | Law of Parallelogram B. | Lami’s theorem
C. | Law of polygon D. | Varignon’s Principle
iyl ol Rttic AURA B,
3. [ A MRy uqBlgL el Rt | B | eall A udlay
C | Qellallet o1l Bl ARstoll Rtttict
A point load is acting on
24. [ A. | A point on the beam B. | At the end of beam
C. | The entire length of beam D. | All of the above
(g e Slotl ur Aselol wtad B2
¥, | A | ollH ot @g uR B. | olu ot B35t uR
G ] oll ol ydl cious w2 D. | Guretl ot
For the equilibrium of coplanar non concurrent force
25 A. | The sum of moments of all forces | B. | The sum of moments of all forces

should be constant

should not be zero

C. | The sum of moments of all forces

D. | None of the above
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| should be equal to zero

[

A cellal Il o ol AHAEHA 12

Aol o slallett Adeell aRadll | B | olul o ololletl A ileadl wRcudll
'R AUAN 9ot ot U HBA
Co | oai o cldlett QHzel MRt | P | Guret nigll slesual o
9o HRANR
The reaction of the simple support of the beam is always
26. | A. | Horizontal B. [ vertical
C. [ Inclined D. | none of the above
oflidotl AEL R UR ylAlsau sl eXau ala.
g, | A | wuRQe B. | Geal
C. i D. | Guzell Higll Slsuet @
Resultant force of couple is equal to
o 1 N Bl
e 10 D100
Ay of uReuHl el alal.
R9. [A To - i
6. | 10 D. | 100
A simply supported beam carries supports at
28. | A. | One end of beam B. | Middle of beam
C. | Ends of beam D. | None of the above
Y5t Il 2sdet ol u e sl 8.
¢. [ A | ollioll As BSLUR B. | olluetl Heat ui
C. | ollHott dsL uR D | Gurew wigll Algwa 18l
The centroid of a semi circular shape of radius “r” is
29. [ A. | (r, 3r/27) B. | (r, 2r/37)
C.. @ Br/dn) D. | (r,4r/3m)
“r Rerall o A adn of Aot
€. [A. [(r, 3120 B. | (r,2t/3n)
C. | (r, 3t/4m) D. |(r,41/3 %)
The centroidal distance of an equilateral triangle of base 15 cm & height 9 cm is
30. [A. [(3,9cm B. [(5,9cm
CrodliB)em D [(5 3)e
g Aoy BLElL 3 Boll wiall 10 AHL A At 12 AL & A Aol HruBa of
30 YR
A (39 cm B (5;9)¢m
C. | (B8) et [Ye=l=(58) e
Centre of gravity is a point at which
A. | Entire mass of body is B. | Entire Area of body is concentrated
31 concentrated
C. | Entire Volume of body is D. | Entire Length of body is concentrated
concentrated
oj3ccl¥s As A (Glg B Boll UR
3 9%

A | R of UMY scalHlet B3t

’ B. [ clr of AL A Fct uAd 8l
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[ A 8l

] g of 4H2L 5€ SRt wAG A | Do | arg of 4ol cious 3R udell Ao

For a horizontal wire AB having length 100 mm., the value of % from point A is

82 e lEA 0 [B. [50 mm
[C. |75 mm | D. 100 mm
U5 100mm cAioll Rlect ctziz AB U2 7 ol A ol B
32. A. [0 [B. ][50 mm
| 75 mm | D | 100 mm
If the area is symmetrical about Y axis, then the centroid lies on axis.
33. [A. [Xaxis | B. [Y axis
| Both X and Y axis | D. | None of the above
f{rl 56 2501 Y udl A uARRA S A Ay ot¥s udl uz wd,
33. ‘Xuﬂ |B- Y udl
' X ual Y u3l ‘ D | Guzet uigll Sleual o1&l
Symmetry of “I” section is about
34 [ A [Xaxis |B. [Yaxis
| Both X and Y axis | D. [ None of the above
“I" Aseet HI2 UARRA uil 58 22
3%. | A | xudl B. lyudl
Colxuayudl D | Guzet wigll Sleuel «1dl
A circle has
35. | A. | Two axes of symmetry B. | Three axes of symmetry
C. | Four axes of symmetry D. | All of the above
adn o
3U. | A | QAR udl B. oo auAR udl
Colur wHAR udl D. | Gurell cres
The area of a Tr1angle having width 50mm and height 80mm
36. | A. 400 mm . [ 30 mm?
C. | 130 mm? . 1200 mm?
eIls AL Boll ulous 50mm 4R Gaua 80mm 8l cl Aoy A5 Bz Al2?
3S. A T400 mm [B. [30mm’
| 130 mm? | D. [200 mm®
The area of a semi-circle is
37. |A [aR° B. [nR%2
C. [ nR%4 D. [zR%8
Utd-aduusiz o Assa
39. [A [aR2 |B. [«R%2
C. |aR%4 [D. [RS8
From the following shape for which Centroid can be calculated
38. | A. | cube B. | Circle
C. | cone D. | Sphere
ol Aot Higll s2ut 2us12 12 A ol st B2
3e. [ B el B lada
C. | aig D 1anq
39. | The coefficient of friction is depends on
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A. | area of contact

B. | shape of surface

C. | strength of surfaces

D. | nature of surface

aoUs ofl R UR ¥ &

B | dud awdl ot ausi2

3¢ | A | dus awdleu &s
Co | audlell cusict D | awdl st ysiz
Static friction as compared to dynamic friction is
40. | A. | same B. | More
C. |less D. | no any relation
@As udel A oulds eniel ofl ARuuHgl |
¥0. | A | uy da B | a2 dat
C. | 228 dat D1 Q1 diciu atell
The friction force acts in direction of motion.
41. | A. | Same B. | Opposite
C. | Perpendicular D. | Inclined
udglaaodell Reumiad .
¥ | A | uRull B. @zt
C. | du D. aial
If limiting friction is 20N and Normal Reaction is 100N, then the value of co-efficient
4 of friction is
il 1 240) B. |80
L D. 102
gl et URLeLN 20N U cot YlABau 100N Sl Al udeus ol Gid 23l
¥2. [A. T120 B. [80
G, |5 D 102
Angle of Friction is always equal to
43. | A. | Angle of Repose B. | Normal Reaction
C. | Limiting Friction D. | Static Friction
ol slol WeNa  ofl R sl B,
¥3. [ A | [@Qsun Blet B. | dotyl@Bau
Co | medu urgem D. | @ds urdal
The co-efficient of friction is equal to
44. | A. |sing J B. | cose
C. |[tang D. |cotg
adaus ol Bud. ol Rl 8lad
¥¥. [A. [sing B. | cosp
C. |tang D. [coto
Reciprocating of piston inside a cylinder is an example of
45. | A. | Sliding friction B. | Static friction
C. | Rolling friction D. | None of the above
Acllsoll vie2 usdl Meat  GelsQL B,
¥u. | A | reussloludel B. | R@s udagl
C. | Aellot uvigt D1 Guretl migll Slsug «1él
According to laws of static friction, the limiting friction is
46. | A. | Equal to normal reaction B. | Inversely proportional to normal

reaction
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C. | Directly proportional to normal D. | None of the above
reaction
RAds wgl ol e yosol, MR o urieL 2
¥s. [ A | dilet dlBlsatet A elRAeR B | duiet flflsaet A Qg aHymel
C | elblet AAseiet A ly wnysuel | D | Guret misll Slsug «14]
When a body is subjected to force P, and it is at rest, what is the relation between P and
F?
. & TPF B. [P<F
G | P>E D. | P=2F
AR UEL UR P olel clldl B U uelsdl @R 8ol U2 P U F 23 o
vo, |doiu g 8l 87
A. | P=F B, ~-P<E
G B D. | P=2F
The friction experienced by a body, when body is at rest, is known as
48. | A. | Static friction B. | Dynamic friction
C. | Rolling friction D. | None of these
AR Ul RAR QA AR Usjteldl ude . 53D,
¥e. |4 | @Qs udel B a@s unel
C. | Acllot el D. | Guzetl uigll Sl <&l
The Minimum force required to slide a body of weight “W” on a rough horizontal
49 lane is
A, | Wsin©® B. | WcosO
C. | Wtan© D. | None of these
W clgeot alou UELEl ol WREUSE AHEUAY AMAA UR UR5cl HIB w33 oot
ol
¥E.
A Wsin® B. WecosO
C. | wtano D. | Guzett migll Slsunl olél
What will happen if the angle of inclined plane is equal to the limiting angle of
50 friction?
* | A. | Body will slide down | B. [ Body will remain rest
C. | Body will climb up | D. | None of these
L AU AHAC o VR L ot HAIR o vjeu B2cll autat Al g uadl?
wo. | A | ueted olA uzsdl B yeisd @iz
C. | uetd Gur usal D. | GuRet Higll Slesuat «1él
The energy possessed by a body because of its motion is known as
51. | A. | Potential energy B. | Kinetic energy
C. | Chemical energy D. | Heat energy
ueld ofl oA A 5120 2atsldell sifalsa o sdallal,
ut | A | RARy stlab B o stefaey
Co ua@s staf D. | gwu st
One Watt=
§52—|-Aw—|-1-¥/5 B. |1 Nm/s
G KW D. | All of the above
U, | 1dle=
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A | 1JTs B. | 1Nm/s
3
G| IO D. | Gurell wt o
L HE = Watt
53. | A. | 1000 B. | 100
C. | 746 D. |0.746
18 war= 2
“3. ['A. [1000 B. [100
C. | 746 D. | 1746
A box is pulled by a horizontal force of 10 N for a distance of 5m, what is the value
54 of work done?
* AL S Nm B. | 15N.m
C. 025Ny D. | S0N.m
A5 ol 10 N oll AR Azt U &l SmHE WAUHL UA B L 513 ofl (5t
wy, | edl?
A. |5Nm B. [15Nm
C. [25N.m D. |50N.m
The equation of Potential Energy is
55, Lahe | moela B. [m’gh
C. |mgh D. |mg’h
RAQEs stfalse of Yot
W A [mv’2 B. | m'gh
Eo= Emph D. |mg'h
The S.I. unit of work is
56. | A. | Pascal B. | Newton
C. | Watt D. |Joule
slelallsel oll S.L AsH
us. | A | uesd B. | »jeat
C. Cua D. %Ci
When water falls from a height above the ground level
A. | Kinetic energy is converted into B. | Potential energy is converted into
57- potential energy kinetic energy
C. | Chemical energy is converted into | D. | None of the above
heat energy
oot oll Aatetoll Gute ol wgll oA ud R
Aol a6l of PRy AG L | B | RARE a6 of auldes ale Mt
wa. IULAR A B, UldR A B,
Co | ua@s a6 of Guu aGa M | P | Gurett migll slougl «1él
uUlcR A 8.
Energy stored in a body due to its position is known as
58. | A. | Kinetic energy B. | Static energy
C. | Kinematic energy D. | Potential energy
el ofl RAR A 5120 AosslAcl stelalsel sdcllal,
uc. | A | aldes aGe B. | G312 aa
C. | geat oo 2B D. | Rl a5t
59 The required work done in pumping 100 liters of water to a height of 1 m ( Take

g=1 0m/sec’)
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A. [1000J B. [10J
C. | 10000J D. | None of the above
1'm B8 UR 100 @22 well & Uulol s2cu %39l sL2l(g=10m/sec® A)
ue, [A. [ 1000J B. [10J
C. | 1000 D. ] GuRetl Higll Slesu o1&l
Law of machine is
60. [A. [P=mW/C [B. [P=mW+C
C. [P=m/WC | D. | None of the above
Hallot ol (Raum
$0. |A. |P=mW/C B. [P=mW+C
C. |P=m/WC D. 1 Guzel 1ig Sleun 44
A reversible machine will have an efficiency
61. [A. [=50% [B. [>50%
C. [<50% D, [=100%
UR Al 22 ofl stelamel
s A T=50% [B. [>50%
C. [<50% |D. [=100%
The efficiency of simple machine is a ratio of
62 A. | Output/ input B. | Work done by it/ work done on it
" | C. | Mechanical advantage/ D. | All the above
velocity ratio
ULELRLA ofl sl B Aot 9802 &2
AL wBeye/ gelye B | aio glat et stel 2ot uz s2amt
$2. wAA 51
C i3ellsca AsadwAdE | D | Guz ol sttty
M@
Which of the following is not a simple machine?
63. | A. | Pulley B. | Simple screw jack
C. | Bicycle D. | Motor cycle
o{lAatl Hiell 57 g A otell?
s3. [A | yel B. 1 aél g 35
C | aallset e WaASH
Mechanical Advantage is
64. [A. [W/P B. [WxP
C. | w+p D. |W-P
3ollset Ascllody A
s¥. [A WP B. [ WxP
C. |w+p D. | W-P
For a simple machine, if MA=10 and VR = 20 then what is the efficiency?
65. [A. [10% B. [30%
C. [50% D. [70%
ALELRIA HIZ, BL MA=10 8ol VR =20 8l2t Al steletidl decll 432
SY. A T10% B. [30%
C. [50% D. [70%
66 For a simple screw jack, equation of V.R. is
" |A. [2L/pm [B. [mp/L
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1)

C. [2mp/L [2L/p
U5 UELXG B HIEZ, V.R.o YA
SS. [A. [2L/pn B. [mp/L
C. | 2mp/L D. |2xL/p
If law of machine is P=0.5W+3 what is the value of maximum MA?
67. [A. ]05 B. [2
e |3 D. |5
ol 22 (A2uM P=0.5W+3 dlal dl HettH MA ofl Bt 3ecll auar?
59 [A. Jos5 B (2
A B 3
For a simple machine, Input =
68. | A. | Load x distance moved by effort B. | Effort x distance moved by load
C. | Effort x distance moved by effort | D. | Load x distance moved by load
AULELRAA HLR, Sotye =
A | cogel x Yawloa o3 silg B. I yaietoto x cosot o3 510
¢, vdR AR
Co | yamtoln x yaston a3 sidg | D | et x axet od sy
¥R AR
For a simple machine if m= 0.10 and V.R. =10, what is the maximum efficiency of
69 machine?
" [A [25% B. [50%
C. [75% D. [100%
AULELRIA HIZ, %l m=0.10 WA V.R, =10 &l Al HetiH stlatHdl deell ad?
S¢. A [25% B. [50%
C. [75% D. [100%
The ratio between the distance travelled by effort and the distance travelled by load is
70. | A. | Velocity ratio B. | Efficiency
C. | Mechanical advantage D. | None of the above
Yool dd  silg wdR Ul dxet dd 50 wdAR ol 9EldR
A s&alHL w1 B,
390.
A. | QdR(lE] Q= sllatdl
c. | Hellsct Ascues D. | GuRall Higll sleuwl «18l

e 2 e o sl ok e odesle sl sk sk sk ok
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